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X5302
0 x 5302 = 0

1 x 5302 = 5302

2 x 5302 = 10604

3 x 5302 = 15906

4 x 5302 = 21208

5 x 5302 = 26510

6 x 5302 = 31812

7 x 5302 = 37114

8 x 5302 = 42416

9 x 5302 = 47718

10 x 5302 = 53020

11 x 5302 = 58322

12 x 5302 = 63624

13 x 5302 = 68926

14 x 5302 = 74228

15 x 5302 = 79530

16 x 5302 = 84832

17 x 5302 = 90134

18 x 5302 = 95436

19 x 5302 = 100738

20 x 5302 = 106040

21 x 5302 = 111342

22 x 5302 = 116644

23 x 5302 = 121946

24 x 5302 = 127248

25 x 5302 = 132550

26 x 5302 = 137852

27 x 5302 = 143154

28 x 5302 = 148456

29 x 5302 = 153758

30 x 5302 = 159060

31 x 5302 = 164362

32 x 5302 = 169664

33 x 5302 = 174966

34 x 5302 = 180268

35 x 5302 = 185570

36 x 5302 = 190872

37 x 5302 = 196174

38 x 5302 = 201476

39 x 5302 = 206778

40 x 5302 = 212080

41 x 5302 = 217382

42 x 5302 = 222684

43 x 5302 = 227986

44 x 5302 = 233288

45 x 5302 = 238590

46 x 5302 = 243892

47 x 5302 = 249194

48 x 5302 = 254496

49 x 5302 = 259798

50 x 5302 = 265100
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